

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at **wvOASIS.gov**. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at **WVPurchasing.gov** with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

WOAS	SIS		Jump to: FC	ORMS 🟦 Go 😚 Home	Accessibil	ity 🧧 App Help 🏾 🏷 About	1
Welcome, Lu Anne Cottrill			Procurement	Budgeting Accounts Receiva	ble Accounts Payable		
Solicitation Response(SR) Dept:	1200 ID: ESR	1127170000000227	7 Ver.: 1 Function: New	Phase: Final Modif	ied by batch , 11/27/2017		
Header () 1							
						🗮 List View	-
General Information Con	tact Default Va	alues Discount I	Document Information				
Procurement Folder:	387042			SO Doc Code:	CRFQ		
Procurement Type:	Central Master A	greement		SO Dept:	1200		
Vendor ID:	000000199159	2		SO Doc ID:	AUD180000002		
Legal Name:	MYTHICS INC			Published Date:	11/14/17		
Alias/DBA:				Close Date:	11/27/17		
Total Bid:	\$151,350.00			Close Time:	13:30		
Response Date:	11/27/2017			Status:	Closed		
Response Time:	13:20			Solicitation Description:	ORACLE SOFTWARE LICENSE AND SUPPORT	0	
4				Total of Header Attachments:	1		
				Total of All Attachments:	1		



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder : 387042 Solicitation Description : ORACLE SOFTWARE LICENSE AND SUPPORT Proc Type : Central Master Agreement						
Date issued	Solicitation Closes	Solicita	tion Response	Version		
	2017-11-27 13:30:00	SR	1200 ESR11271700000002277	1		

VENDOR			
000000199159			
MYTHICS INC			
Solicitation Number:	CRFQ	1200	AUD180000002

 Total Bid :
 \$151,350.00
 Response Date:
 2017-11-27
 Response Time:
 13:20:48

Comments:

FOR INFORMATION CONTACT THE BUYER			
Tara Lyle			
(304) 558-2544 tara.l.lyle@wv.gov			
Signature on File	FEIN #	DATE	
All offers subject to all terms and conditions	contained in this solicitation		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	ORACLE SOFTWARE LICENSE AND SUPPORT	1.00000	LS	\$151,350.000000	\$151,350.00
Comm Code	Manufacturer	Specification		Model #	
81112501					
Extended De	scription : VENDOR SHOULD FILL	OUT THE EXHIB	IT A - PRICIN	IG PAGE	





1439 N. Great Neck Rd. Suite 201 Virginia Beach, VA 23454 Ben Landis Phone: 757-431-7568 Fax: 757.412.1060 Email: blandis@mythics.com Company Name: West Virginia State Auditors Office Contact: Kirk Rector Email: Kirk.Rector@wvsao.gov Phone: 304-340-4843 Estimate Number: LS-WVSAO-0831-Tech Estimate prepared on: August 31, 2017 Valid thru: November 30, 2017

LICENSES AND SUPPORT

Oracle Master Agreement 226883

ltem Nbr	Oracle Product Description	Term	Oracle License Type	Number of Licenses	Discounted Unit Price	Extended Price
1	Oracle Database Enterprise Edition	1 year	Processor	4	\$7,125.00	\$28,500.00
2	Software Update License and Support	1 year	Processor	4	\$7,837.50	\$31,350.00
3	Diagnostics Pack	Perpetual	Processor	8	\$5,625.00	\$45,000.00
4	Software Update License and Support	1 year	Processor	8	\$1,237.50	\$9,900.00
5	Tuning Pack	Perpetual	Processor	8	\$3,750.00	\$30,000.00
6	Software Update License and Support	1 year	Processor	8	\$825.00	\$6,600.00

SUBTOTAL: LICENSE	\$103,500.00
SUBTOTAL: YEAR 1 SUPPORT & UPDATE RIGHTS	\$47,850.00
SUBTOTAL: FEE	\$151,350.00

CONSULTING SERVICES	Upon Request
ORACLE TRAINING AND EDUCATION	Upon Request

This quotation is subject to management approval

TOTAL \$151,350.00

Additional Information:

This quotation is an estimate and is an invitation for you to offer to purchase products and services from Mythics. Your order is subject to Mythics' acceptance and to software licensing terms and conditions per reference to an existing license/contract or a newly executed license accompanying your order. Mythics DUNS#: 013358002 Mythics Fed Tax ID# 54-1987871

CAGE CODE: 1TA34

NAIC: 423430 Support services are provided under Oracle's then current technical support policies located at: http://www.oracle.com/support/policies.html You agree that Mythics has the right to cancel your support due to non-payment. Media is available for download at no additional cost at http://edelivery.oracle.com/

In reliance on your order, Mythics will issue a non-cancellable order with its supplier for software or hardware products ordered. Therefore all orders are non-cancellable.

Purchasing Instructions:

Please reference Mythics Estimate Number LS-WVSAO-0831-Tech and include the following statements in your order: 1. This order is placed pursuant to the terms and conditions of :

Oracle Master Agreement 226883

2. Payment Terms: License: Net 30 Support: Net 30

Fax order to 757-412-1060 or email to blandis@mythics.com

By confirming, referencing or placing an order based on this quote, you are agreeing that the software products being purchased are for electronic delivery only and there is no transfer of tangible property.